TR E R SRR TR REEHRE
&rEABIT M2 E 11 A 20H (&A% M2 11 A 2 H
B 1 E B EBERETHEWS |E B ERERETE 485
(X

S=1

cZOMBE, [FE A HEGE R T ORI I 25000 (M) &
HRLI=H DO ThD,

125,000

7

N—r

530,

//,4/////
-C>E

*ﬁ%bi@?@%
(REEERT)

ﬂ\

LAL-13ASAAANRNNNNNNR

d

Sy

BARBRZRDEN |2ERBOFRE

B B & B |I1-4291

] Fir & |[HEA00)

i £ BB RREIHEASE
THREZRXE

TR ERRNER X

52

50

S$=1:2, 500

ASSASRIARARAR

Ao e e

== = ek

===

sodi e A
_ I
f'/\\/ 5255
~Na L 0
4 '\.f!.,:'L = ¢
iy
B8 S E K REH / Ao &

O ZOREHIF.

EREE S LA, =

FHLE, EREFAICE RS,

- AR ENE R LD TH Y.

—ERELG-CRAABEABIET .




HTERAILYVEER)
SR A AT

ALY ST ]

KB OED T DR
CREE ) B3 S E AR R




AERMMOME
¥ 3
& i % =5 1 -4291 *r X F= ¥ A HEERIIIEAKREREHR
53] G £ #EA(10) WOE O B H SHMTEIA178
il g ih BRI HEAE ERE#(FERKE)| BIARHBEEMa YLV (EE #Ht)

¢

SIERHAIE R (S=1/25,000)

ST

/_/,.

S

LY
e

]




THREERREEFRER
R4 —1 _ | sAzfmE | SHx&IA17H
BfES | 1-4291 [ Bm% ] BEA10) [ et | #E R L has AR
, N
7, w+E'
s

‘ : —_— LT
‘. BT R4S
\

P \ - — -  BZEIE

AT, - N
'_E_;h;l ] \/_\

BOI-55 ~
to | BE

THREERRS A
kN,/m? m
BEICKDZNM - 143.0 10

5 s = T R=E 100kN/m’ % #B X % K15 )

: m LRIE R K

| —— RRSHEH | psoms 1000| 10
1:1,500 T =

A /N

|

I i




THKEERREEFRTEE
| BE4EmB | SMTFEIAITH

ZEA310) [ FRichh | BB B B, L hie AT

I

Z X \v/\/ "‘ I
1= — =

l ‘J
o S

e —
‘5“\\\ . "

—  _Ltim-TimkR
TR T ARR
- ==  EREBIR

W RN

HES

Z A
3 n
~ @t
ER
I

T

TR EERR ek

SR AomE
ipbyE  |Eaok 14.6 33

PRI E B X

—-"—‘gﬁ,‘gegﬁ.wﬁ-/
e
7 ‘ﬁ=.=.‘=‘=.
i ZOMDOES 13.1
m ///// LESORRCSENN
EYOmHELEZXE C
1: ]. 500 = ﬁ

w
o

|

|




